Use Truth Trees to test the following arguments for validity
· If the argument proves to be invalid, provide a counter-example. 

· After completing a truth tree for each argument, complete a truth table and compare your results  

a)
(p v q) ⊃ r




b)
p ⊃ (q v r)
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c)
A ⊃ B





d)
A ⊃ (B ≠ C)
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∴ ~(B & C)

e)
p v (q & r)




f)
~p ⊃ q


r ≡ s
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(p & r) ⊃ s
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~r ⊃ (t & v)


∴ p ⊃ s





~s








-----------------------








∴  v & t
For the arguments below: 
i)
make a dictionary for the propositions contained in the argument 

ii)
translate the argument into PC (propositional calculus) and set the argument out in standard 

            form

iii)
using a truth tree, test to see whether the argument is valid.  If invalid, provide a counter-

            example

g)   If Bernard is my brother, then so is John.  Vince is my brother only if Paul is. Now 

      at least Benard or John is my brother, so either John is my brother or Paul is.
     (B, J, V, P)
h)   Uranium should be mined only if there is a fool-proof way of disposing of the waste

      products.  Since there is no fool-proof method, it follows that it’s not the case that 

     uranium should be mined.  (m, d)

i)    We will receive additional money and staff if either the budget is increased or we

      write a good proposal.  Since we receive no additional staff, we did not write a 

     good proposal.  (m, s, b, p)
j)   If people are oppressed then there will be violence.  Why?  Because people are not

    oppressed unless force is used.  If force is used then either there is complete 
    submission or there is resistance. Thus, if there is resistance there will be violence and 
    never complete submission.  (o, v, f, c, r)
